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START

Total Trail Length

Find the total length of the cross-country ski trail below by finding the length of the individual segments. In each 
rectanglular loop, the area and one side length are given. Use division to find the length of each unmarked 
segment (rectangle area = length x width, so length = area ÷ width  or width = area ÷ length). After youʼve solved
for each segment length, add them together and write the total in the bottom right corner. Remember, m = meters
and m2 = square meters. Use page 2 for help organizing and showing your work.

2,728 m

45 m

118 m 118 m

65 m

48 m

48 m

37 m

98 m

98 m

99 m

52 m 52 m

88 m

46 m

46 m

50 m50 m

91 m

40 m

40 m 40 m

146 m

60 m 60 m
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Ski Trail Tracker

+
TOTAL

Length = 
Width = 66m

Area = 4,356m2 

Perimeter = Perimeter =  Perimeter =  Perimeter =  Perimeter =  

Perimeter =  Perimeter =  Perimeter =  Perimeter =  

#1

Area = 5,310m2 

#2 Length =  88m
Width =

Length =  65m
Width =

Area = 5,148m2 

#3
Area = 4,550m2 

#4
Area = 1,600m2 

#5
Area = 4,048m2 

#6
Area = 3,626m2 

#7Length =
Width = 146m 

Length =
Width = 91m 

Length =
Width = 40m 

Length =
Width = 37m 

Length =
Width = 45m 

Length =
Width = 99m 

Area = 3,120m2 

#8
Area = 8,760m2 

#9

Use this page to organize your work and find the lengths of the missing segments on page 1. Refer to 
page 1 for  the corresponding rectangle number and solve for the missing length or width using division. 
To find the total length of the trail, you can add up the individual lengths one by one, or you can solve for 
the perimeter of each rectangle and find the sum the perimeters. Either way, you will get the same answer!

Fill out the spaces 
with the perimeters 
of the 9 rectangu-
lar loops and add 
them together.

66m

264m
66+66+66+66 = 264

66
66   4356

- 396
396

0
- 405

264 m

302 m

268 m

160 m

282 m

412 m

226 m

488 m

326 m

2728 m

52 m

302 m
52+99+52+99 = 302 

52
99  5148

- 495
198

- 198
0

46 m

268 m
46+88+46+88 = 268 

46
88  4048

- 352
528

0
- 528

40 m

160 m
40+40+40+40 =160 

40
40  1600

- 160
00

0
- 00

60 m

412 m

60
 146  8760

- 876
00

0
- 00

48 m

226 m
48+65+48+65 = 226 

48
 65  3120

- 260
520

0
- 520

98 m

488 m
185+59+185+59 = 488 

98
37   3626

- 333
 296

- 296
 0

118 m

326 m
118+45+118+45 = 326 

118
45   5310

- 45
81

- 45
360

- 360
0

50 m

282 m
50+91+50+91 = 282 

50
91  4550

- 455
00

0
- 00

60+146+60+146= 412 
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